

Summary of Bids Received

Project: O'Plaine Road at Kennedy Drive

Section: 09-00109-06-CH

Description: Removing Kennedy Drive access and extending West Avenue

Bidder	Address	City, State, Zip	Bond	Bid Price	% Over/Under Eng. Estimate	\$ Over/Under Eng. Estimate		
Maneval Construction Co Inc.	28090 West Concrete Drive	Ingleside, IL 60041	Bid Bond	\$368,267.56	-15.13%	-\$65,675.14		
erger Excavating Contractors	1205 Garland Road	Wauconda, IL 60084	Bid Bond	\$396,299.87	-8.67%	-\$37,642.83		
ampanella & Sons, Inc.	39207 N Magnetics Blvd	Wadsworth, IL 60083	Bid Bond	\$414,272.33	-4.53%	-\$19,670.37		
lliance Contractors, Inc.	1166 Lake Avenue	Woodstock, IL 60098	Bid Bond	\$415,569.92	-4.23%	-\$18,372.78		
andmark Contractors, Inc.	P.O. Box 1104	Huntley, IL 60142	Bid Bond	\$490,560.63	13.05%	\$56,617.93		
Lamp Concrete Contractors, Inc.	1900 Wright Blvd	Schaumburg, IL 60193	Bid Bond	\$500,034.01	15.23%	\$66,091.31		
openhaver Construction	75 Koppie Dr.	Gilberts, IL 60136	Bid Bond	\$516,505.10	19.03%	\$82,562.40		
ngineer's Estimate				\$433,942.70				
esign	IDOT(2)	Contract Bidder	P	T then Plan Rack				
inance	Bid Tab File	Resident Eng.	Resident Eng. Administrative Assis					
onstruction	Project File	Request By Mail	N	ngr Capital Prograr	nming			



Return Bid Tabulation

Project: O'Plaine Road at Kennedy Drive

Section: 09-00109-06-CH

Description: Removing Kennedy Drive access and extending West Avenue

																		A Lamp Concrete Contractors,	
Item No.	Pay Code Description	Quantity	Unit	Eng Estin		Alliance Contra		Berger Excavatir	•	Campanella		Landmark Con	,	Maneval Const		Copenhaver		ln	ic.
				Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
1	20100110 TREE REMOVAL (6 TO 15 UNITS)	148.0	UNITS	\$20.00	\$2,960.00	\$14.00	\$2,072.00	\$14.00	\$2,072.00	\$14.35	\$2,123.80	\$14.00	\$2,072.00	\$14.70	\$2,175.60		\$3,848.00	\$22.00	
2	20100210 TREE REMOVAL (OVER 15 UNITS)		UNITS	\$25.00	\$3,300.00	\$28.00	\$3,696.00	\$28.00	\$3,696.00	\$28.70	\$3,788.40	\$28.00	\$3,696.00	\$29.40	\$3,880.80		\$4,092.00	\$25.00	
3	20200100 EARTH EXCAVATION	1,899.0	CU YD	\$25.00	\$47,475.00	\$30.00	\$56,970.00	\$33.00	\$62,667.00	\$38.85	\$73,776.15	\$47.30	\$89,822.70	\$30.68	\$58,261.32		\$62,667.00	\$38.00	
4	20800150 TRENCH BACKFILL	4.0	CU YD	\$40.00	\$160.00	\$50.00	\$200.00	\$44.75	\$179.00	\$90.00	\$360.00	\$50.00	\$200.00	\$96.76	\$387.04	\$70.00	\$280.00	\$50.00	\$200.00
5	21001000 GEOTECHNICAL FABRIC FOR GROUND STABILIZATION	1,275.0	SQ YD	\$2.00	\$2,550.00	\$1.00	\$1,275.00	\$2.15	\$2,741.25	\$2.50	\$3,187.50	\$1.65	\$2,103.75	\$0.80	\$1,020.00	\$3.00	\$3,825.00	\$1.50	\$1,912.50
6	21101615 TOPSOIL FURNISH & PLACE, 4"	2,387.0	SQ YD	\$5.00	\$11,935.00	\$3.70	\$8,831.90	\$4.95	\$11,815.65	\$3.80	\$9,070.60	\$3.70	\$8,831.90	\$5.99	\$14,298.13	\$5.00	\$11,935.00	\$4.00	
7	21301052 EXPLORATION TRENCH 52" DEPTH	100.0	FOOT	\$30.00	\$3,000.00	\$1.00	\$100.00	\$0.13	\$13.00	\$50.00	\$5,000.00	\$39.50	\$3,950.00	\$11.80	\$1,180.00	\$10.00	\$1,000.00	\$1.00	\$100.00
8	25000115 SEEDING, CLASS 1B	0.5	ACRE	\$5,000.00	\$2,500.00	\$2,420.00	\$1,210.00	\$2,420.00	\$1,210.00	\$2,480.50	\$1,240.25	\$2,420.00	\$1,210.00	\$4,914.00	\$2,457.00	\$8,000.00	\$4,000.00	\$10,000.00	
9	25000400 NITROGEN FERTILIZER NUTRIENT	44.0	POUND	\$3.00	\$132.00	\$1.00	\$44.00	\$1.00	\$44.00	\$1.02	\$44.88	\$1.00	\$44.00	\$3.15	\$138.60	\$1.00	\$44.00	\$1.00	\$44.00
10	25000600 POTASSIUM FERTILIZER NUTRIENT	44.0	POUND	\$3.00	\$132.00	\$1.00	\$44.00	\$1.00	\$44.00	\$1.02	\$44.88	\$1.00	\$44.00	\$3.15	\$138.60	\$1.00	\$44.00	\$1.00	\$44.00
11	25100630 EROSION CONTROL BLANKET	2,387.0	SQ YD	\$5.00	\$11,935.00	\$1.30	\$3,103.10	\$1.45	\$3,461.15	\$1.35	\$3,222.45	\$1.00	\$2,387.00	\$1.05	\$2,506.35	\$3.00	\$7,161.00	\$2.00	\$4,774.00
12	28000305 TEMPORARY DITCH CHECKS	14.0	FOOT	\$15.00	\$210.00	\$20.00	\$280.00	\$20.00	\$280.00	\$22.00	\$308.00	\$20.00	\$280.00	\$11.80	\$165.20	\$20.00	\$280.00	\$35.00	\$490.00
13	28000400 PERIMETER EROSION BARRIER	1,792.0	FOOT	\$5.00	\$8,960.00	\$2.85	\$5,107.20	\$2.90	\$5,196.80	\$3.00	\$5,376.00	\$2.85	\$5,107.20	\$2.42	\$4,336.64	\$3.00	\$5,376.00	\$1.00	\$1,792.00
14	28000510 INLET FILTERS	6.0	EACH	\$100.00	\$600.00	\$150.00	\$900.00	\$165.00	\$990.00	\$175.00	\$1,050.00	\$155.00	\$930.00	\$177.00	\$1,062.00	\$1.00	\$6.00	\$125.00	\$750.00
15	35101600 AGGREGATE BASE COURSE, TYPE B 4"	4,058.0	SQ YD	\$10.00	\$40,580.00	\$4.00	\$16,232.00	\$7.00	\$28,406.00	\$7.75	\$31,449.50	\$6.45	\$26,174.10	\$5.96	\$24,185.68	\$7.00	\$28,406.00	\$5.00	\$20,290.00
16	40600275 BITUMINOUS MATERIALS (PRIME COAT)	10,251.0	POUND	\$0.50	\$5,125.50	\$0.01	\$102.51	\$0.01	\$102.51	\$0.01	\$102.51	\$0.01	\$102.51	\$0.01	\$102.51	\$0.10	\$1,025.10	\$0.01	\$102.51
17	40603080 HOT-MIX ASPHALT BINDER COURSE, IL-19.0, N50	1,095.0	TON	\$75.00	\$82,125.00	\$59.00	\$64,605.00	\$59.00	\$64,605.00	\$60.50	\$66,247.50	\$59.00	\$64,605.00	\$61.95	\$67,835.25	\$73.00	\$79,935.00	\$80.00	\$87,600.00
18	40603335 HOT-MIX ASPHALT SURFACE COURSE, MIX "D", N50	365.0	TON	\$80.00	\$29,200.00	\$72.00	\$26,280.00	\$72.00	\$26,280.00	\$73.80	\$26,937.00	\$72.00	\$26,280.00	\$75.60	\$27,594.00	\$85.00	\$31,025.00	\$85.00	\$31,025.00
19	42001300 PROTECTIVE COAT	706.0	SQ YD	\$5.00	\$3,530.00	\$0.01	\$7.06	\$0.01	\$7.06	\$0.01	\$7.06	\$1.80	\$1,270.80	\$0.84	\$593.04	\$2.00	\$1,412.00	\$2.00	\$1,412.00
20	42400200 PORTLAND CEMENT CONCRETE SIDEWALK 5	3,211.0	SQ FT	\$6.00	\$19,266.00	\$6.00	\$19,266.00	\$6.00	\$19,266.00	\$6.15	\$19,747.65	\$5.50	\$17,660.50	\$4.94	\$15,862.34	\$7.00	\$22,477.00	\$6.00	\$19,266.00
21	42400800 DETECTABLE WARNINGS	48.0	SQ FT	\$22.00	\$1,056.00	\$25.00	\$1,200.00	\$25.00	\$1,200.00	\$25.65	\$1,231.20	\$36.85	\$1,768.80	\$47.25	\$2,268.00	\$33.00	\$1,584.00	\$35.00	\$1,680.00
22	44000500 COMBINATION CURB & GUTTER REMOVAL	531.0	FOOT	\$5.00	\$2,655.00	\$25.00	\$13,275.00	\$5.00	\$2,655.00	\$8.65	\$4,593.15	\$9.45	\$5,017.95	\$5.90	\$3,132.90	\$8.00	\$4,248.00	\$4.00	\$2,124.00
23	48101500 AGGREGATE SHOULDERS, TYPE B 6"	215.0	SQ YD	\$30.00	\$6,450.00	\$15.40	\$3,311.00	\$15.00	\$3,225.00	\$15.80	\$3,397.00	\$14.35	\$3,085.25	\$16.17	\$3,476.55	\$21.00	\$4,515.00	\$20.00	\$4,300.00
24	48203021 HOT-MIX ASPHALT SHOULDERS, 6"	54.0	SQ YD	\$30.00	\$1,620.00	\$80.00	\$4,320.00	\$80.00	\$4,320.00	\$82.00	\$4,428.00	\$80.00	\$4,320.00	\$84.00	\$4,536.00	\$60.00	\$3,240.00	\$65.00	\$3,510.00
25	542D0220 PIPE CULVERTS, CLASS D, TYPE 1 15"	50.0	FOOT	\$100.00	\$5,000.00	\$25.00	\$1,250.00	\$65.00	\$3,250.00	\$62.00	\$3,100.00	\$125.00	\$6,250.00	\$61.36	\$3,068.00	\$105.00	\$5,250.00	\$100.00	\$5,000.00
26	54213870 STEEL END SECTIONS 15"	2.0	EACH	\$750.00	\$1,500.00	\$150.00	\$300.00	\$550.00	\$1,100.00	\$473.00	\$946.00	\$750.00	\$1,500.00	\$171.10	\$342.20	\$700.00	\$1,400.00	\$1,250.00	\$2,500.00
27	54213657 PRECAST REINFORCED CONCRETE FLARED END SECTIONS 12"	2.0	EACH	\$800.00	\$1,600.00	\$500.00	\$1,000.00	\$1,050.00	\$2,100.00	\$600.00	\$1,200.00	\$775.00	\$1,550.00	\$486.16	\$972.32	\$750.00	\$1,500.00	\$1,500.00	\$3,000.00
28	550A0050 STORM SEWERS, CLASS A, TYPE 1 12"	28.0	FOOT	\$50.00	\$1,400.00	\$93.50	\$2,618.00	\$55.00	\$1,540.00	\$72.30	\$2,024.40	\$135.00	\$3,780.00	\$73.16	\$2,048.48	\$100.00	\$2,800.00	\$75.00	\$2,100.00
29	550A0340 STORM SEWERS, CLASS A, TYPE 2 12"	145.0	FOOT	\$50.00	\$7,250.00	\$93.50	\$13,557.50	\$58.00	\$8,410.00	\$72.30	\$10,483.50	\$155.00	\$22,475.00	\$48.97	\$7,100.65	\$53.00	\$7,685.00	\$80.00	\$11,600.00
30	55100500 STORM SEWER REMOVAL, 12"	147.0	FOOT	\$20.00	\$2,940.00	\$10.00	\$1,470.00	\$12.25	\$1,800.75	\$22.50	\$3,307.50	\$35.00	\$5,145.00	\$5.90	\$867.30	\$15.00	\$2,205.00	\$10.00	\$1,470.00
31	55100700 STORM SEWER REMOVAL, 15"	31.0	FOOT	\$20.00	\$620.00	\$10.00	\$310.00	\$12.50	\$387.50	\$22.50	\$697.50	\$35.00	\$1,085.00	\$5.90	\$182.90	\$20.00	\$620.00	\$10.00	\$310.00
32	55100900 STORM SEWER REMOVAL, 18"	23.0	FOOT	\$20.00	\$460.00	\$10.00	\$230.00	\$16.00	\$368.00	\$22.50	\$517.50	\$35.00	\$805.00	\$5.90	\$135.70	\$30.00	\$690.00	\$10.00	\$230.00
33	56400100 FIRE HYDRANTS TO BE MOVED	2.0	EACH	\$1,500.00	\$3,000.00	\$4,000.00	\$8,000.00	\$6,000.00	\$12,000.00	\$3,402.50	\$6,805.00	\$6,561.56	\$13,123.12	\$3,177.74	\$6,355.48	\$1,900.00	\$3,800.00	\$3,000.00	\$6,000.00
34	60207905 CATCH BASINS, TYPE C, TYPE 11 FRAME AND GRATE	4.0	EACH	\$1,500.00	\$6,000.00	\$2,000.00	\$8,000.00	\$1,350.00	\$5,400.00	\$2,110.00	\$8,440.00	\$2,200.00	\$8,800.00	\$1,243.72	\$4,974.88	\$3,100.00	\$12,400.00	\$1,800.00	\$7,200.00
35	60218300 MANHOLES, TYPE A, 4'-DIAMETER, TYPE 1 FRAME, OPEN LID	1.0	EACH	\$2,000.00	\$2,000.00	\$3,900.00	\$3,900.00	\$2,600.00	\$2,600.00	\$2,925.00	\$2,925.00	\$5,400.00	\$5,400.00	\$1,711.00	\$1,711.00	\$3,000.00	\$3,000.00	\$3,500.00	\$3,500.00
36	60218400 MANHOLES, TYPE A, 4'-DIAMETER, TYPE 1 FRAME, CLOSED LID	2.0	EACH	\$2,000.00	\$4,000.00	\$3,900.00	\$7,800.00	\$2,600.00	\$5,200.00	\$3,000.00	\$6,000.00	\$5,400.00	\$10,800.00	\$1,711.00	\$3,422.00	\$3,000.00	\$6,000.00	\$3,500.00	\$7,000.00
37	60219300 MANHOLES, TYPE A, 4'-DIAMETER, TYPE 11 FRAME AND GRATE	1.0	EACH	\$2,000.00	\$2,000.00	\$4,000.00	\$4,000.00	\$2,750.00	\$2,750.00	\$3,005.00	\$3,005.00	\$5,400.00	\$5,400.00	\$1,829.00	\$1,829.00	\$3,100.00	\$3,100.00	\$3,800.00	\$3,800.00
38	60255500 MANHOLES TO BE ADJUSTED	3.0	EACH	\$500.00	\$1,500.00	\$150.00	\$450.00	\$700.00	\$2,100.00	\$1,050.00	\$3,150.00	\$800.00	\$2,400.00	\$525.10	\$1,575.30	\$700.00	\$2,100.00	\$400.00	\$1,200.00
39	60500040 REMOVING MANHOLES	3.0	EACH	\$500.00	\$1,500.00	\$250.00	\$750.00	\$450.00	\$1,350.00	\$400.00	\$1,200.00	\$425.00	\$1,275.00	\$177.00	\$531.00	\$500.00	\$1,500.00	\$500.00	\$1,500.00
40	60500060 REMOVING INLETS	1.0	EACH	\$500.00	\$500.00	\$100.00	\$100.00	\$375.00	\$375.00	\$350.00	\$350.00	\$800.00	\$800.00	\$88.50	\$88.50	\$500.00	\$500.00	\$200.00	\$200.00
41	60603800 COMBINATION CONCRETE CURB & GUTTER, TYPE B-6.12	1,399.0	FOOT	\$30.00	\$41,970.00	\$19.75	\$27,630.25	\$22.00	\$30,778.00	\$20.25	\$28,329.75	\$15.15	\$21,194.85	\$18.85	\$26,371.15	\$24.00	\$33,576.00	\$20.00	\$27,980.00



Return Bid Tabulation

Project: O'Plaine Road at Kennedy Drive

Section: 09-00109-06-CH

Description: Removing Kennedy Drive access and extending West Avenue

CPMS Pin: B-00715 Let Date: 3/17/2015

																			A Lamp Concre	ete Contractors,
Item No.	Pay Code	Description	Quantity	Unit	Eng Estin	nate	Alliance Contr	actors, Inc.	Berger Excavatin	g Contractors	Campanella	& Sons, Inc.	Landmark Cor	ntractors, Inc.	Maneval Const	ruction Co Inc.	Copenhaver	Construction	lr	nc.
					Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
42	60605100	COMBINATION CONCRETE CURB & GUTTER, TYPE B-6.24 (ABUTTING EXISTING PAVEMENT)	114.0	FOOT	\$30.00	\$3,420.00	\$28.00	\$3,192.00	\$30.00	\$3,420.00	\$28.70	\$3,271.80	\$38.75	\$4,417.50	\$28.19	\$3,213.66	\$26.00	\$2,964.00	\$30.00	\$3,420.00
43	61140200	STORM SEWERS (SPECIAL), 12"	95.0	FOOT	\$60.00	\$5,700.00	\$93.50	\$8,882.50	\$60.00	\$5,700.00	\$61.40	\$5,833.00	\$175.00	\$16,625.00	\$66.55	\$6,322.25	\$120.00	\$11,400.00	\$125.00	\$11,875.00
44	61140400	STORM SEWERS (SPECIAL), 15"	50.0	FOOT	\$70.00	\$3,500.00	\$97.00	\$4,850.00	\$64.00	\$3,200.00	\$65.20	\$3,260.00	\$195.00	\$9,750.00	\$68.44	\$3,422.00	\$130.00	\$6,500.00	\$150.00	\$7,500.00
45	72400100	REMOVE SIGN PANEL ASSEMBLY - TYPE A	3.0	EACH	\$50.00	\$150.00	\$125.00	\$375.00	\$125.00	\$375.00	\$128.15	\$384.45	\$125.00	\$375.00	\$88.50	\$265.50	\$400.00	\$1,200.00	\$200.00	\$600.00
46	72400310	REMOVE SIGN PANEL - TYPE 1	9.0	SQ FT	\$20.00	\$180.00	\$20.00	\$180.00	\$20.00	\$180.00	\$20.50	\$184.50	\$20.00	\$180.00	\$14.16	\$127.44	\$55.00	\$495.00	\$50.00	\$450.00
47	78000300	THERMOPLASTIC PAVEMENT MARKING - LINE 5"	114.0	FOOT	\$0.30	\$34.20	\$18.85	\$2,148.90	\$33.55	\$3,824.70	\$19.30	\$2,200.20	\$33.55	\$3,824.70	\$21.00	\$2,394.00	\$22.00	\$2,508.00	\$45.00	\$5,130.00
48	LC200051	REJECTED LOAD TRANSPORTATION	3.0	LOAD	\$500.00	\$1,500.00	\$250.00	\$750.00	\$275.00	\$825.00	\$475.00	\$1,425.00	\$620.00	\$1,860.00	\$289.10	\$867.30	\$200.00	\$600.00	\$250.00	\$750.00
49	LC200501	MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEMS	9,862.0	UNIT	\$1.00	\$9,862.00	\$1.00	\$9,862.00	\$1.00	\$9,862.00	\$1.00	\$9,862.00	\$1.00	\$9,862.00	\$1.00	\$9,862.00	\$1.00	\$9,862.00	\$1.00	\$9,862.00
50	X2070304	POROUS GRANULAR EMBANKMENT, SPECIAL	375.0	CU YD	\$40.00	\$15,000.00	\$30.00	\$11,250.00	\$52.00	\$19,500.00	\$52.90	\$19,837.50	\$48.60	\$18,225.00	\$30.86	\$11,572.50	\$25.00	\$9,375.00	\$45.00	\$16,875.00
51	X6013600	PIPE UNDERDRAINS (MODIFIED)	100.0	FOOT	\$20.00	\$2,000.00	\$30.00	\$3,000.00	\$30.00	\$3,000.00	\$3.00	\$300.00	\$45.00	\$4,500.00	\$25.96	\$2,596.00	\$16.00	\$1,600.00	\$30.00	\$3,000.00
52	X6700405	ENGINEER'S FIELD OFFICE, TYPE A (MODIFIED)	3.0	CAL MO	\$1,500.00	\$4,500.00	\$500.00	\$1,500.00	\$2,400.00	\$7,200.00	\$2,000.00	\$6,000.00	\$2,500.00	\$7,500.00	\$885.00	\$2,655.00	\$1,500.00	\$4,500.00	\$1,500.00	\$4,500.00
53	X7010216	TRAFFIC CONTROL AND PROTECTION (SPECIAL)	1.0	L SUM	\$13,150.00	\$13,150.00	\$53,782.00	\$53,782.00	\$12,000.00	\$12,000.00	\$10,000.00	\$10,000.00	\$22,600.00	\$22,600.00	\$20,650.00	\$20,650.00	\$89,000.00	\$89,000.00	\$74,000.00	\$74,000.00
54	XX006658	FLOCCULATION LOGS	5.0	EACH	\$250.00	\$1,250.00	\$250.00	\$1,250.00	\$155.00	\$775.00	\$256.25	\$1,281.25	\$250.00	\$1,250.00	\$88.50	\$442.50	\$150.00	\$750.00	\$350.00	\$1,750.00
55	XX006659	FLOCCULATION POWDER (LCDOT)	20.0	POUND	\$25.00	\$500.00	\$35.00	\$700.00	\$22.00	\$440.00	\$35.90	\$718.00	\$35.00	\$700.00	\$5.90	\$118.00	\$10.00	\$200.00	\$50.00	\$1,000.00
56	Z0019600	DUST CONTROL WATERING	50.0	UNIT	\$50.00	\$2,500.00	\$1.00	\$50.00	\$0.25	\$12.50	\$10.00	\$500.00	\$122.90	\$6,145.00	\$11.80	\$590.00	\$100.00	\$5,000.00	\$1.00	\$50.00
		Bid Total				\$433,942.70		\$415,569.92		\$396,299.87		\$414,272.33		\$490,560.63		\$368,267.56		\$516,505.10		\$500,034.01

CODEF Version 0.0.965 Page 3 3/17/2015



Project: O'Plaine Road at Kennedy Drive

Section: 09-00109-06-CH

Description: Removing Kennedy Drive access and extending West Avenue

					Eng Est	imate			
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
1	20100110	TREE REMOVAL (6 TO 15 UNITS)	148.0	UNITS	\$20.00	\$2,960.00	\$14.00	\$26.00	\$17.01
2	20100210	TREE REMOVAL (OVER 15 UNITS)	132.0	UNITS	\$25.00	\$3,300.00	\$25.00	\$31.00	\$28.30
3	20200100	EARTH EXCAVATION	1,899.0	CU YD	\$25.00	\$47,475.00	\$30.00	\$47.30	\$35.83
4	20800150	TRENCH BACKFILL	4.0	CU YD	\$40.00	\$160.00	\$44.75	\$96.76	\$64.50
5	21001000	GEOTECHNICAL FABRIC FOR GROUND STABILIZATION	1,275.0	SQ YD	\$2.00	\$2,550.00	\$0.80	\$3.00	\$1.80
6	21101615	TOPSOIL FURNISH & PLACE, 4"	2,387.0	SQ YD	\$5.00	\$11,935.00	\$3.70	\$5.99	\$4.45
7	21301052	EXPLORATION TRENCH 52" DEPTH	100.0	FOOT	\$30.00	\$3,000.00	\$0.13	\$50.00	\$16.20
8	25000115	SEEDING, CLASS 1B	0.5	ACRE	\$5,000.00	\$2,500.00	\$2,420.00	\$10,000.00	\$4,664.93
9	25000400	NITROGEN FERTILIZER NUTRIENT	44.0	POUND	\$3.00	\$132.00	\$1.00	\$3.15	\$1.31
10	25000600	POTASSIUM FERTILIZER NUTRIENT	44.0	POUND	\$3.00	\$132.00	\$1.00	\$3.15	\$1.31
11	25100630	EROSION CONTROL BLANKET	2,387.0	SQ YD	\$5.00	\$11,935.00	\$1.00	\$3.00	\$1.59
12	28000305	TEMPORARY DITCH CHECKS	14.0	FOOT	\$15.00	\$210.00	\$11.80	\$35.00	\$21.26
13	28000400	PERIMETER EROSION BARRIER	1,792.0	FOOT	\$5.00	\$8,960.00	\$1.00	\$3.00	\$2.57
14	28000510	INLET FILTERS	6.0	EACH	\$100.00	\$600.00	\$1.00	\$177.00	\$135.43
15	35101600	AGGREGATE BASE COURSE, TYPE B 4"	4,058.0	SQ YD	\$10.00	\$40,580.00	\$4.00	\$7.75	\$6.17
16	40600275	BITUMINOUS MATERIALS (PRIME COAT)	10,251.0	POUND	\$0.50	\$5,125.50	\$0.01	\$0.10	\$0.02
17	40603080	HOT-MIX ASPHALT BINDER COURSE, IL-19.0, N50	1,095.0	TON	\$75.00	\$82,125.00	\$59.00	\$80.00	\$64.64



Project: O'Plaine Road at Kennedy Drive

Section: 09-00109-06-CH

Description: Removing Kennedy Drive access and extending West Avenue

					Eng Estimate				
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
18	40603335	HOT-MIX ASPHALT SURFACE COURSE, MIX "D", N50	365.0	TON	\$80.00	\$29,200.00	\$72.00	\$85.00	\$76.49
19	42001300	PROTECTIVE COAT	706.0	SQ YD	\$5.00	\$3,530.00	\$0.01	\$2.00	\$0.95
20	42400200	PORTLAND CEMENT CONCRETE SIDEWALK 5 INCH	3,211.0	SQ FT	\$6.00	\$19,266.00	\$4.94	\$7.00	\$5.94
21	42400800	DETECTABLE WARNINGS	48.0	SQ FT	\$22.00	\$1,056.00	\$25.00	\$47.25	\$32.54
22	44000500	COMBINATION CURB & GUTTER REMOVAL	531.0	FOOT	\$5.00	\$2,655.00	\$4.00	\$25.00	\$9.43
23	48101500	AGGREGATE SHOULDERS, TYPE B 6"	215.0	SQ YD	\$30.00	\$6,450.00	\$14.35	\$21.00	\$16.82
24	48203021	HOT-MIX ASPHALT SHOULDERS, 6"	54.0	SQ YD	\$30.00	\$1,620.00	\$60.00	\$84.00	\$75.86
25	542D0220	PIPE CULVERTS, CLASS D, TYPE 1 15"	50.0	FOOT	\$100.00	\$5,000.00	\$25.00	\$125.00	\$77.62
26	54213870	STEEL END SECTIONS 15"	2.0	EACH	\$750.00	\$1,500.00	\$150.00	\$1,250.00	\$577.73
27	54213657	PRECAST REINFORCED CONCRETE FLARED END SECTIONS 12"	2.0	EACH	\$800.00	\$1,600.00	\$486.16	\$1,500.00	\$808.74
28	550A0050	STORM SEWERS, CLASS A, TYPE 1 12"	28.0	FOOT	\$50.00	\$1,400.00	\$55.00	\$135.00	\$86.28
29	550A0340	STORM SEWERS, CLASS A, TYPE 2 12"	145.0	FOOT	\$50.00	\$7,250.00	\$48.97	\$155.00	\$80.11
30	55100500	STORM SEWER REMOVAL, 12"	147.0	FOOT	\$20.00	\$2,940.00	\$5.90	\$35.00	\$15.81
31	55100700	STORM SEWER REMOVAL, 15"	31.0	FOOT	\$20.00	\$620.00	\$5.90	\$35.00	\$16.56
32	55100900	STORM SEWER REMOVAL, 18"	23.0	FOOT	\$20.00	\$460.00	\$5.90	\$35.00	\$18.49
33	56400100	FIRE HYDRANTS TO BE MOVED	2.0	EACH	\$1,500.00	\$3,000.00	\$1,900.00	\$6,561.56	\$4,005.97



Project: O'Plaine Road at Kennedy Drive

Section: 09-00109-06-CH

Description: Removing Kennedy Drive access and extending West Avenue

					Eng Est	imate			
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
34	60207905	CATCH BASINS, TYPE C, TYPE 11 FRAME AND GRATE	4.0	EACH	\$1,500.00	\$6,000.00	\$1,243.72	\$3,100.00	\$1,971.96
35	60218300	MANHOLES, TYPE A, 4'-DIAMETER, TYPE 1 FRAME, OPEN LID	1.0	EACH	\$2,000.00	\$2,000.00	\$1,711.00	\$5,400.00	\$3,290.86
36	60218400	MANHOLES, TYPE A, 4'-DIAMETER, TYPE 1 FRAME, CLOSED LID	2.0	EACH	\$2,000.00	\$4,000.00	\$1,711.00	\$5,400.00	\$3,301.57
37	60219300	MANHOLES, TYPE A, 4'-DIAMETER, TYPE 11 FRAME AND GRATE	1.0	EACH	\$2,000.00	\$2,000.00	\$1,829.00	\$5,400.00	\$3,412.00
38	60255500	MANHOLES TO BE ADJUSTED	3.0	EACH	\$500.00	\$1,500.00	\$150.00	\$1,050.00	\$617.87
39	60500040	REMOVING MANHOLES	3.0	EACH	\$500.00	\$1,500.00	\$177.00	\$500.00	\$386.00
40	60500060	REMOVING INLETS	1.0	EACH	\$500.00	\$500.00	\$88.50	\$800.00	\$344.79
41	60603800	COMBINATION CONCRETE CURB & GUTTER, TYPE B-6.12	1,399.0	FOOT	\$30.00	\$41,970.00	\$15.15	\$24.00	\$20.00
42	60605100	COMBINATION CONCRETE CURB & GUTTER, TYPE B-6.24 (ABUTTING EXISTING PAVEMENT)	114.0	FOOT	\$30.00	\$3,420.00	\$26.00	\$38.75	\$29.95
43	61140200	STORM SEWERS (SPECIAL), 12"	95.0	FOOT	\$60.00	\$5,700.00	\$60.00	\$175.00	\$100.21
44	61140400	STORM SEWERS (SPECIAL), 15"	50.0	FOOT	\$70.00	\$3,500.00	\$64.00	\$195.00	\$109.95
45	72400100	REMOVE SIGN PANEL ASSEMBLY - TYPE A	3.0	EACH	\$50.00	\$150.00	\$88.50	\$400.00	\$170.24
46	72400310	REMOVE SIGN PANEL - TYPE 1	9.0	SQ FT	\$20.00	\$180.00	\$14.16	\$55.00	\$28.52



Project: O'Plaine Road at Kennedy Drive

Section: 09-00109-06-CH

Description: Removing Kennedy Drive access and extending West Avenue

					Eng Est	imate			
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
47	78000300	THERMOPLASTIC PAVEMENT MARKING - LINE 5"	114.0	FOOT	\$0.30	\$34.20	\$18.85	\$45.00	\$27.61
48	LC200051	REJECTED LOAD TRANSPORTATION	3.0	LOAD	\$500.00	\$1,500.00	\$200.00	\$620.00	\$337.01
49	LC200501	MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEMS	9,862.0	UNIT	\$1.00	\$9,862.00	\$1.00	\$1.00	\$1.00
50	X2070304	POROUS GRANULAR EMBANKMENT, SPECIAL	375.0	CU YD	\$40.00	\$15,000.00	\$25.00	\$52.90	\$40.62
51	X6013600	PIPE UNDERDRAINS (MODIFIED)	100.0	FOOT	\$20.00	\$2,000.00	\$3.00	\$45.00	\$25.71
52	X6700405	ENGINEER'S FIELD OFFICE, TYPE A (MODIFIED)	3.0	CAL MO	\$1,500.00	\$4,500.00	\$500.00	\$2,500.00	\$1,612.14
53	X7010216	TRAFFIC CONTROL AND PROTECTION (SPECIAL)	1.0	L SUM	\$13,150.00	\$13,150.00	\$10,000.00	\$89,000.00	\$40,290.29
54	XX006658	FLOCCULATION LOGS	5.0	EACH	\$250.00	\$1,250.00	\$88.50	\$350.00	\$214.25
55	XX006659	FLOCCULATION POWDER (LCDOT)	20.0	POUND	\$25.00	\$500.00	\$5.90	\$50.00	\$27.69
56	Z0019600	DUST CONTROL WATERING	50.0	UNIT	\$50.00	\$2,500.00	\$0.25	\$122.90	\$35.28
		Bid Total				\$433,942.70			